9 = a L91°T = PiX A9 /A8asug
001 010

s[enpisay

(A®¥ s)/syuno)

Y0—-dL9°1 -+ v0—-4d6Vv'E = WJOoN [T T [TT1T 1 1T 1 T T [TrTr 1 1T 1
00+d12T -+  00+d9E2- = - A’V k’V g
10-3222 -+  10-39S1 = Hy | |
21-AS¥'2 = xnig w x’v + |
10-42L1 = ajed OOQW [ 1 | I T T B 1 liod o1 Jl
A9/ AS1auy A9¥ /ABasuy
001 010 001 010
CT [TTTT T T T 1 [TTTT T 1 T [TTTT T T T 1 [TTT T T T
— — $-0T1 - B 7]
jm
| _ (@) — .
o
o n ]
B 7 o
| _ w - _
| _ \/) - _
- ] o L | ]
- 3 ¢-01 wz — =
%)
- - - u ]
| ] 0]
5 . = [ i
= 1 _______A’_v 1 ______|mNIOﬁ m_ 1 _______A’_v 1 ______m

82G2S9—-2'€c6Eteel SXde [mod, wured G200 4c62E6



